RIS FE 1FEAR

ZF ACTOwY [18E]

U |5 e FEU—TR FEU—TR FEU—TR
5l
FRE 0 [={iwA
1 lrlen) O - 2| 3 B — fBEg | MEh - B8EF40 | B0 - ERD
5 gaEb q - 5 0o — 18 8 — 4 16 — 4
2} = 2 - 17 12 — 6 16 — 4
5 i3 —16i72|44:i9 — 6:18]|62i16 — 9 27
3 2 - 0 1
wle o — 21 15 — 2 14 — 10
215 | BEOSR - - _
4| 8BP |2 - 0| 1 |tBED - EHEDP|EHLAEP — FED | EP - tBaeP
10 — 5 5 — 0 0o - 5
5 fgig O - 2| 3
(A 12 — 8 5 — 0 o — 5
31i4 — 2i24]120i5 — 0o O] O io — 520
\ -
6| mhas 1 1 2 5 _ o 5 - o o - s
215 | BROSR - - -
TF ACTOwvwZD [288)
3 = R b — X B RER—TAYEA | REE—FTAVERA | REBE—TXV R
= . . .
T NSV £E15315(09 : 00~) F25E5(10:20~) | 4548513 : O0~)
o _
- MED BEdP - mAER| BED - kBEP| BEP - tBad
gﬂﬁéb‘ﬁl? 8 — 6 4 — 6 4 — 11
; . 12 — 5 2 - 11 10 — 8
o J\ BHED 34 21113 271 30 38
12 — 6 4 — 0 10 — 8
=| &eBs N - -
P = [m] P = =]
(K&=1 BEASBE] (K&=2BEEHEBE]
(R PER =15 | BB
No ISR g — R TO No | 7&5l B5R XUE D —
©) 9:00~ |l — WBED|em® ©) ZF |9:00~ BED - [Ezpaais
@ 10 : 20~ |#8BE® — m@nED|fEED @) gF |10:20~ BEg - bld=Fals
©) 11 : 40~ |BED — BO=d|meo ©) gF  |11:40~ [Epm - [iEfiee]
@ 13 : 00~ |mrED — FEiad|teae @ gF |18:00~ BEP - b|d=F=]=z!
® 14 : 20~ |BED — [ERD|oED
® 15 40~ |FEiED — Hta60|mras




